
展 開の しかた (1)

(2χ +3y)(χ -2y-4)

=2χ (χ -2y-4)+3y(χ -2y-4)

=2χ 2_4χ y-8χ +3χ y-6y2_12y

=2χ 2_χ y_8χ -6y2_12y

【問 1]次の式を展開しなさい。
①  (χ -3)(χ +y-5)

②  (2a+3)(a+b-1)

③  (3χ -1)(2χ +y-5)

④  (3a一 b)(2a一 b+3)
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展開の しかた (2)

(a一 b+1)(a+b)

=a(a tt b)一 b(a+b)+(a tt b)

=a2+ab~ab一 b2+a+b

=a2_b2+a tt b

(別解 )(a一 b+1)× a+(a一 b+1)

× bと 展開 して もよい。

【問 2』 次の式を展開しなさい。

①  (χ +3y+2)(χ 一 y)

②  (χ 一 y+3)(2χ -1)

③  (χ -2y+1)(χ +2y)

④  (2a一 b-3)(2a+b)



展開のしかた (1)

(2χ +3y)(χ -2y-4)

=2χ (χ -2y-4)+3y(χ -2y-4)

=2χ 2_4χ y,-8χ +3χ y-6y2_12y

=2χ 2_χ y_8χ -6y2_12y
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②  (2a+3)(a+b-1)
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④  (3a一 b)(2a一 b+3)
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(3χ -1)(2χ +y-5)
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展開のしかた (2)

(a一 b+1)(a+b)

=a(a+b)一 b(a+b)十 (a tt b)

=a2+ab~ab一 b2+a+b

=a2_b2+a tt b

(別解)(a一 b+1)× a+(a一 b+1)
× bと 展開してもよい。

(2a一 b-3)(2a+b)
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【問 2】 次の式を展開しなさい。         /
①  (χ +3y+2)(χ 一 y)
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② (χ 一y+3)(2χ -1)
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③  (χ -2y+1)(χ +2y)
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